' Set #19 — Plane Motion of Rigid Bodies

1. The motion of the 3-1b rod AB is guided by two small |

wheels that roll freely in a horizontal slot cut in a vertical |

plate. Determine ]
a) the force P for which the reaction at A is zero,
b) the corresponding acceleration of the rod.
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' Set #19 - Plane Motion of Rigid Bodies
| 2. A uniform circular plate of mass 3 kg is attached to two links AC and

| BD of the same length. Knowing that the plate is released from rest in
' the position shown, determine
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a) the acceleration of the plate,
b) the tension in each link.
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Set #19 — Plane Motion nf ngid Badies

3. It takes 10 min for a 6000-1b flywheel to coast to rest from an angular velocity of 300 rpm.

Knowing that the radius of gyration of the flywheel is 36 inches, determine the average magnitude of
the couple due to kinetic friction in the bearings.
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Set #19 — Plane Motion of Rigid Bodies

4. A uniform slender rod AB rests on a frictionless horizontal
surface, and a force P of magnitude 0.25 Ibis appliedat Aina
direction perpendicular to the rod. Knowing that the rod
weighs 1.75 Ib, determine the acceleration of
a) point A,
b) point B.
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